
Eta_c -> pi+ pi- eta



The radiative photon has low energy – potential peaking bkg can’t be estimated by sideband

Confirmed by Eta_c->pi0 a0 exclusive MC

Need to confirm the contribution



J/psi -> gamma eta_c (pi0 pi0 eta) sample
Event Selection

Similar to J/psi -> gamma eta pi0

At least 7 photon candidates

5C fit constraining the mass of etac
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Δ2
2>11; eta asymmetry < 0.95



J/psi -> gamma eta_c (pi0 pi0 eta) sample
Round05 data; Consistent with pi+ pi- eta decay

Estimated bkg number with 10B data around a0: 110 (10%)


